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Scenario : 2 PDU Sessions 

PDU session 1: Session-AMBR= 100 Mbps

PDU session 2: Session AMBR= 100 Mbps

S-MBR=120 Mbps
Solution 37

Admission control

PDU session 1 first admitted session AMBR= 100 Mbps

PDU Session 2 setup (S-MBR split by PCF, enforcement in UPF at 20 Mbps) admitted in RAN at 20 Mbps 
Let say incoming traffic of 30 Mbps on PDU session 1

Without DC: 

max possible rate = 30 (PDU session 1) + 20 (PDU session 2)= 50 Mbps

With DC: e.g. PDU session 2 on SN
Max possible rate = 30 (PDU session 1) + 20 (PDU session 2)= 50 Mbps

PDU session 2 cannot deliver more than 20 Mbps. This is independent from DC or not. Solution 37 delivers low performance in all cases.
Solution 22

Admission control

PDU session 1 first admitted session AMBR= 100 Mbps

PDU Session 2 setup (non-filtered by PCF, enforcement in UPF at 100 Mbps) admitted in RAN at 100 Mbps
Let say incoming traffic of 30 Mbps on PDU session 1

Without DC: 

max possible rate = 30 (PDU session 1) + 90 (PDU session 2)= 120 Mbps

With DC: e.g. PDU session 2 in SN
MN can decide same blind S-MBR split as solution 37: i.e. 100 Mbps S-MBR for PDU session 1 in MN and 20 Mbps S-MBR for PDU session 2 in SN.
Then Max possible rate = 30 (PDU session 1) + 20 (PDU session 2) = 50 Mbps

But MN can flexibly decide other split of S-MBR: 30 Mbps for PDU session 1 in MN and 90 Mbps for PDU session 2 in SN
Max possible bit rate =  30 (PDU session 1) + 90 (PDU session 2) = 120 Mbps
Comparison table 

	
	Max possible bit rate without DC
	Max possible bit rate with DC

	Solution 37
	50 Mbps
	50 Mbps

	Solution 22
	120 Mbps
	Between 50 and 120 Mbps depending of MN split of S-MBR


Conclusion and Proposal

From the table, it can be seen that:

· Without DC solution 22 always offers significant higher bit rate than solution 37,

· With DC solution 22 loses part of its efficiency but still remain always better than solution 37.

In summary, the main drawback of solution 37 is that it always offers the lower performance of DC even when DC is not used!
Proposal: include this paper as attachment of the LS to SA2 requesting feedback from RAN.
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